
(a) 
5’- TTTTGCACTTCTCAATTAGATCTAAACTTGGAAACTTTTCTCAGAAGTTAACT 
GTCCTTTGACCTCTTCTCTTCTGAATTGCAGAAATCAGACAGGATCTTGGTATTT
GTTAAAATGACCTCTTGTGTTGCTAAAGAACCTATTAAGAAGATTGCCATCTTTG
GAGGGACTCATGGAAATGAACTGACCGGAGTGTTTCTAGTTACTCACTGGCTAA
GGAATGGCACTGAAGTTCACAGAGCAGGGCTGGACGTGAAGCCATTCATTACC
AATCCAAGGGCGGTGGAGAAGTGCACCAGATACATTGACTGTGACCTGAATCG
TGTTTTTGACCTTGAAAATCTTAGCAAAGAGATGTCTGAAGACTTGCCATATGAA
GTGAGAAGGGCTCAAGAAATAAATCATTTATTTGGTCCAAAAAATAGTGATGATG
CCTATGACATTGTTTTTGACCTTCACAACACCACTTCTAACATGGGTTGCACTCT
TATTCTTGAGGATTCCAGGAATGACTTTTTAATTCAGATGTTTCACTATATTAAGA
CTTGCATGGCTCCATTACCCTGCTCTGTTTATCTCATTGAGCATCCTTCACTCAA
ATATGCAACCACTCGTTCCATTGCCAAGTATCCTGTTGGTATAGAAGTTGGTCC
TCAGCCTCACGGTGTCCTTAGAGCTGATATTTTAGACCAAATGAGAAAAATGAT
AAAACATGCTCTTGATTTTATACAGCATTTCAATGAAGGAAAAGAATTTCCTCCC
TGTTCTATTGACGTCTATAAAATAATGGAGAAAGTTGATTATCCAAGGAATGAAA
GTGGAGACATGGCTGCTGTTATTCATCCTAATCTGCAGGATCAAGACTGGAAAC
CATTGCACCCTGGAGATCCTGTGTTTGTGTCTCTTGATGGAAAAGTTATTCCACT
GGGTGGAGACTGTACCGTGTACCCAGTGTTTGTGAATGAAGCTGCATATTATGA
AAAAAAAGAAGCATTTGCAAAGACAACAAAACTAACACTCAGCGCAAAAAGCAT
CCGCTCCACTTTGCACTAAAAGTCTTTGCAAGCTCAGTTATAGGAGTCTTGCAA
ACACCTAGAACTCTGTAAACCTCCAAGACCAGAGTGCCTTACTCTAGTTCTTTTC
CTCAGTGCCTGGCCCCGTGCCTCAAGCAGTAAGCATCCAGGCCAGGTTCTGAA
AGGAAAGGATAAATTAATGAACGTCTTTCAAATATATTTTGGATGTGCTATGTAC
AGGCAAGTGTGCTTCTGGTTTCTGTATTATTCTTTATACAGTATATTCTTGTAGC
GTAACATTGTTAACTTTCACATTTAGAACATAACATTGAAATACATGCTAGTGCA
ACTTAGCACACAGCAGGACAGACTATATGTTTTCAAGTAATGCATAAGTGCTAAT
CAAAAATAATAGTACAGACTTTGTGTTTTTAAGTTCTGGTGTGTGAATTAATGAC
AGTGAATTAAATGTCCATTCCATAAAAAAAAAAAAAAAAAAAAAA-3’ 
 
(b) 

 


